

$$x^2 - ax + 1 = 0$$

$$\alpha = \frac{1}{\beta} \Rightarrow S = \frac{a}{\beta} = \frac{1}{\beta}$$

$$P = \frac{1}{\beta} = \frac{1}{\beta} \quad \beta = \frac{1}{\beta} \quad \beta = \frac{1}{\beta}$$

$$\beta = \frac{1}{\beta} \rightarrow \frac{a}{\beta} = \frac{1}{\beta} \quad \boxed{a = 1}$$

$$\beta = -\frac{1}{\beta} \quad \frac{a}{\beta} = -\frac{1}{\beta} \quad \boxed{a = -1}$$

$$\Delta = 1 = 1$$

$$x^2 - (m+1)x + 1 = 0 \quad S = \frac{m+1}{2} \quad P = \frac{1}{2}$$

$$\frac{1}{\alpha} + \frac{1}{\beta} = \omega \quad \frac{\sqrt{\alpha} + \sqrt{\beta}}{\sqrt{\alpha\beta}} = \frac{\sqrt{\alpha} + \sqrt{\beta}}{\frac{1}{4}} = \omega \quad \sqrt{\alpha} + \sqrt{\beta} = \frac{\omega}{4} \Rightarrow \alpha + \beta + \frac{1}{4} = \frac{\omega}{4}$$

$$\alpha + \beta = \frac{\omega - 1}{4} = \frac{1}{4} \quad \frac{m+1}{2} = \frac{1}{4} \quad \boxed{m = -1}$$

$$x^2 + kx - 9 = 0 \quad \alpha\beta = -9 \quad \alpha = 9$$

$$(\alpha + \beta)^2 = 1 = \alpha^2 + \beta^2 - 1 \quad \alpha + \beta = 1 \Rightarrow \beta = -1$$

$$\Rightarrow 9 + k - 1 - 9 = 0 \quad \boxed{k = -1}$$

$$x^2 + 4x + a = 0 \quad \alpha < \beta < 0 \quad S = -4 \quad P = a \quad |\alpha - \beta| = \frac{\sqrt{\Delta}}{a} = \frac{\sqrt{16 - 4a}}{1} \quad \alpha - \beta = -2\sqrt{4 - a}$$

$$P\alpha + P\beta = 12\sqrt{4 - a} + 12$$

$$\frac{12(\alpha + \beta)}{12 - 4a} + \frac{12(\alpha - \beta)}{12\sqrt{4 - a}} = 4 \Rightarrow \frac{12}{12 - 4a} + \frac{12}{12\sqrt{4 - a}} = 1 \Rightarrow \boxed{a = 1}$$

$$x^2 - 7x - 6 = 0$$

$$x = t \quad t^2 - 7t - 6 = 0 \quad t = \frac{7 \pm \sqrt{49 + 24}}{2}$$

$$\Delta = 49 + 24 = 73$$

$$x = \frac{7 \pm \sqrt{73}}{2}$$

$$S = 0$$

$$P = -\frac{6}{2}$$

$$P = \frac{1}{x} = \frac{1}{\frac{7 \pm \sqrt{73}}{2}} = \frac{2}{7 \pm \sqrt{73}} = \frac{2(7 \mp \sqrt{73})}{49 - 73} = \frac{2(7 \mp \sqrt{73})}{-24} = \frac{7 \mp \sqrt{73}}{-12}$$

MM
MM

$$\begin{aligned}
 & r_2^r - ax + b = 0 & r_2 ax^r + ax - 4 = 0 \\
 & S_2: \alpha + \frac{1}{r} + B + \frac{1}{r} = \frac{a}{r} & S_2: \alpha + B = -\frac{1}{r} \quad p = -r \\
 & \alpha + B = \frac{a}{r} - 1 & -\frac{1}{r} = \frac{a}{r} - 1 \quad \boxed{a=1} \\
 & P = (\alpha + \frac{1}{r})(B + \frac{1}{r}) = \alpha B + \frac{1}{r}(\alpha + B) + \frac{1}{r^2} = \frac{b}{r} \\
 & -r - \frac{1}{r} + \frac{1}{r} = \frac{b}{r} \quad \boxed{b = -4}
 \end{aligned}$$

$$\left[\frac{ab}{c} \right] = \left[\frac{-4}{-1} \right] = -r$$

$$\begin{aligned}
 & ax^r - ax - b = 0 & r_0 B^r + r_0 \alpha^r - r_0 B = 14 \\
 & \alpha + B = 1 & r_0 (B^r + B) + r_0 (B^r + \alpha^r) = 14 \\
 & \alpha B = -\frac{b}{a} & r_0 \left(\frac{b}{a} \right) + r_0 \left(\frac{S_1^r - r_0 p}{1 - \frac{r_0 b}{a}} \right) = 14 \\
 & 10(B^r - B) = b & \frac{r_0 b}{a} + r_0 + \frac{r_0 b}{a} = 14 \quad \frac{r_0 b}{a} = 14 - r_0 \quad \frac{b}{a} = -\frac{1}{r_0} \\
 & |\alpha - B| = \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{1 - 4\alpha B}}{|a|} = \frac{\sqrt{1 - 4\left(-\frac{b}{a}\right)}}{|a|} = \frac{\sqrt{1 + \frac{4b}{a}}}{|a|} = \frac{r}{\sqrt{a}}
 \end{aligned}$$

$$\begin{aligned}
 & (1) x^r - (a+1)x + a = 0 \quad r_{k+1}, r_{k-1} \\
 & (2) x^r - (ra+1)x + b = 0 \quad r_{k'}, r_{k'+r} \\
 & P_1 = a = (r_{k+1})(r_{k-1}) = r_{k+1} - 1, S = r_k = a+1 \quad a = r_k - 1 \quad \begin{matrix} w^r = k \\ k=0, 1 \end{matrix} \quad \boxed{a=r} \\
 & P_r = b = r_{k'} r_{k'+r}, S = r_{k'} + r = ra+1 = 10 \quad k' = r \quad P_r = b = 14 \Rightarrow \boxed{r=2} \\
 & rE - r = 11
 \end{aligned}$$

$$\begin{aligned}
 & x^r + x - 1 - m^r = 0 & \alpha^r + B^r = S^r - rp = 1 + -r(-1) = r \\
 & S = -1 \\
 & P_2 \alpha \beta = -(1+m^r) \xrightarrow{m=0}
 \end{aligned}$$

$$\begin{aligned}
 & \frac{dy}{dx} = \frac{-a+r}{r} = -1 & y = a(x+1)^r + 1 \\
 & 0 = ax^r + rx + a + 1 & 0 = ax^r + rx + a + 1 \\
 & S = \frac{-ra}{a} = -r \quad p = \frac{a+1}{a} & \alpha^r + B^r = a \\
 & r - \frac{r(a+1)}{a} = a & r - \frac{r(a+1)}{a} = a \\
 & \frac{-ra - r}{a} = 1 & -ra - r = a \\
 & a = \frac{-r}{r} = -1 & \boxed{a = -1}
 \end{aligned}$$